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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2014 
O 
O 	(APPLICATION ORIENTED COURSE) 

AOM-1 : OFFICE ORGANIZATION AND 
MANAGEMENT 

Maximum Marks : 50 
Weightage : 70% 

Note : Answer any five questions. All questions carry equal 
marks. 

1. Define office management. Discuss the functions 
of an office manager. 	 3+7 

2. What do you mean by 'office systems'? State the 
advantages of a sound office system. 	 3+7 

3. "Indexing is an integral part of filing and records 10 
management". Discuss. 

4. Explain the concept of 'centralised 
correspondence'. State the advantages and 
disadvantages of centralised correspondence. 2+4+4 

5. Discuss the advantages of using forms. What 
principle should be observed while designing 
office forms ? 	 4+6 
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6. 	Explain the concept of staff welfare and state the 
important welfare measures, that are usually 
extended to employees in a modern office. 	4+6 

	

7. 	Distinguish between any two of the following : 

(a) Horizontal and Vertical methods of filing 
(b) Primary and Secondary Data 
(c) Open Office and Private Office 

	

8. 	Write short notes on any two of the following : 
(a) Communication 
(b) Supervision 
(c) Personnel Relations 
(d) Importance of Managing Stationary 

5+5 

5+5 
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